

Available online at www.sciencedirect.com



Applied Mathematics Letters

Applied Mathematics Letters 20 (2007) 1011-1015

www.elsevier.com/locate/aml

# On a particular Emden–Fowler equation with non-positive energy $u'' - u^3 = 0$

Mathematical model of enterprise competitiveness and performance

Meng-Rong Li<sup>a,\*</sup>, Yue-Loong Chang<sup>b</sup>

<sup>a</sup> Department of Mathematical Sciences, National Chengchi University, Taipei, 116 Taiwan, ROC <sup>b</sup> Department of Psychology, National Chengchi University, Taipei, 116 Taiwan, ROC

Received 8 December 2006; accepted 14 December 2006

#### Abstract

In this paper we work with the ordinary equation  $u'' - u^3 = 0$  and obtain some interesting phenomena concerning blow-up, blow-up rate and life-span of solutions to those equations under negative energy. (© 2007 Elsevier Ltd. All rights reserved.

Keywords: Estimate; Life-span; Blow-up; Blow-up rate; Performance

#### 1. Introduction

How to improve the performance and competitiveness of a company is the critical issue of Industrial and Organizational Psychology in Taiwan. We try to design an appropriate mathematical model of the competitiveness and the performance of the 293 benchmark enterprises out of 655 companies ?

Unexpectedly, we discover the correlation of performance and competitiveness is extremely high, some benchmark enterprises present the following phenomena:

Competitiveness (Force, F(P(n))) is a cubic function of the performance (P(n)); that is, there exist positive constants  $P_0 > 0$  and k > 0 such that

 $F(P(n)) = k(P(n) - P_0)^3$ ,

where *n* is the number of departments or the decision makers of one of the surveying benchmark enterprise,  $P(n) \ge P_0$ and *F* is proportional to the second derivative of *P* with respect to *n*.

Now we consider the special case  $F(P(n)) = M \frac{d^2 P(n)}{dn^2}$ , and let  $u(n) := \sqrt{\frac{k}{M}}(P(n) - P_0) \ge 0$ , then we obtain a particular Emden–Fowler equation

<sup>\*</sup> Corresponding author. Tel.: +886 2 29393091x88055.

E-mail address: liwei@math.nccu.edu.tw (M.-R. Li).

URL: http://www.math.nccu.edu.tw (M.-R. Li).

$$\begin{cases} u'' - u^3 = 0, & n \ge n_0, \\ u(n_0) = u_0 = \sqrt{\frac{k}{M}} (P(n_0) - P_0), & u'(n_0) = u_1. \end{cases}$$
(1.1)

It is clear that the function  $u^3$  is locally Lipschitz; hence by the standard theory, the local existence of classical solutions is applicable to the Eq. (1.1); for the more general case of Lane–Emden type one can read the paper written by Agarward and O'Regean [9].

We shall use our methods used in [1-8] to deal with the estimates for the life-span of the solutions of (1.1), the blow-up rates and blow-up constants.

Notation and Fundamental Lemma. For a given function u in this work, we use the following abbreviations:

$$a(n) = u(n)^2$$
,  $E(n) = u'(n)^2 - \frac{1}{2}u(n)^4$ ,  $J(n) = a(n)^{-\frac{1}{2}}$ .

**Definition.** A function  $g : \mathbb{R} \to \mathbb{R}$  with a blow-up rate q means that g exists only in finite time; i.e., there is a finite number  $T^*$  so that  $\lim_{t\to T^*} g(t)^{-1} = 0$  and there exists a non-zero  $\beta \in \mathbb{R}$  with  $\lim_{t\to T^*} (T^* - t)^q g(t) = \beta$ , in this case  $\beta$  is called the blow-up constant of g.

After some elementary calculation we obtain the following lemma.

**Lemma.** Suppose that u is the solution of (1.1), then E(n) is a constant and we have

$$6u'(n)^2 = 4E(n_0) + a''(n), \tag{1.2}$$

$$J''(n) = 2E(n_0)J(n)^3$$
(1.3)

and

$$J'(n)^{2} = J'(n_{0})^{2} - E(n_{0})J(n_{0})^{4} + E(n_{0})J(n)^{4}.$$
(1.4)

## **2.** Estimates for the life-span, blow-up rate and blow-up constant under $E(n_0) \leq 0$

To estimate the life-span of the solution of the Eq. (1.1), we separate this section into two parts:  $E(n_0) < 0$  and  $E(n_0) = 0$ ,  $a'(n_0) > 0$ . Here the life-span N of u means that u exists and makes sense only in the interval  $[n_0, N)$  so that the problem (1.1) possesses the solution  $u \in \overline{C}^2(n_0, N)$ . Here we have the following result:

**Theorem 2.1.** If N is the life-span of the solution u to (1.1) with  $E(n_0) < 0$ , then N is finite. Further, for  $a'(n_0) \ge 0$  we have the estimate

$$N \le N_1^* = n_0 + \int_0^{J(n_0)} \frac{\mathrm{d}r}{\sqrt{\frac{1}{2} + E(n_0)r^4}};$$
(2.1)

for  $a'(n_0) < 0$ ,

$$N \le N_2^* = n_0 + \left(\int_0^\alpha + \int_{J(n_0)}^\alpha\right) \frac{\mathrm{d}r}{\sqrt{\frac{1}{2} + E(n_0)r^4}},\tag{2.2}$$

where  $\alpha = (\frac{1}{2} \frac{-1}{E(n_0)})^{\frac{1}{4}}$ . Furthermore, if  $E(n_0) = 0$  and  $a'(n_0) > 0$ , then

$$N \le N_3^* \coloneqq n_0 + \frac{2a(n_0)}{a'(n_0)}.$$
(2.3)

**Proof.** For  $E(n_0) < 0$ , we know that  $a(n_0) > 0$ ; otherwise we get  $a(n_0) = 0$ , that is,  $u_0 = 0$ , then  $E(n_0) = u_1^2 \ge 0$ , this contradicts  $E(n_0) < 0$ .

(i)  $a'(n_0) \ge 0$ . By (1.2) and (1.4) we find that

1012

$$a'(n) \ge a'(n_0) - 4E(n_0)(n - n_0) \quad \forall n \ge n_0,$$
(2.4)

$$J'(n) = -\sqrt{\frac{1}{2} + E(n_0)J(n)^4} \le J'(n_0) \quad \forall n \ge n_0$$
(2.5)

and  $J(n) \leq 0$  for large *n*. Thus there exists a finite number  $N_1^* := N_1^*(u_0, u_1) \leq n_0 + \frac{u_0}{u_1}$  such that  $J(N_1^*) = 0$  and so  $a(n) \to \infty$  as  $n \to N_1^*$ . This means that  $N \leq N_1^*$ . By (2.5) and  $J(N_1^*) = 0$  we find that

$$\int_{J(n)}^{J(n_0)} \frac{\mathrm{d}r}{\sqrt{\frac{1}{2} + E(n_0)r^4}} = n - n_0 \quad \forall n \ge n_0 \tag{2.6}$$

and hence we get the estimate (2.1).

(ii)  $a'(n_0) < 0$ . By (2.4),  $a'(n_0) < 0$  and the convexity of a we can find a unique finite number  $n_1 = n_1(u_0, u_1)$  such that

$$a'(n) > 0 \quad \text{for } n > n_1,$$
 (2.7)

and  $a(n_1) > 0$ ; we conclude that  $a(n) > 0 \ \forall n \ge n_0, u'(n_1) = 0, E(n_0) = -\frac{1}{2}u(n_1)^4$  and  $J(n_1)^4 = \frac{-1}{2E(n_1)}$ .

After arguments similar to step (i), there exists a finite number  $N_2^* := N_2^*(u_0, u_1)$  such that the life-span N of u is bounded by  $N_2^*$ , that is,  $N \le N_2^*$ . By an analogous argument, using (2.7) and (1.4) and the fact that  $J(n_1)^4 = \frac{-1}{2E(n_0)}$ and  $J(N_2^*) = 0$ , we conclude that

$$J'(n) = -\sqrt{\frac{1}{2} + E(n_0)J(n)^4} \quad \forall n \ge n_1,$$
(2.8a)

$$J'(n) = \sqrt{\frac{1}{2} + E(n_0)J(n)^4} \quad \forall n \in [n_0, n_1],$$
(2.8b)

$$\int_{J(n)}^{J(n_1)} \frac{\mathrm{d}r}{\sqrt{\frac{1}{2} + E(n_0)r^4}} = n - n_1 \quad \forall n \ge n_1,$$
(2.9a)

$$\int_{J(n_0)}^{J(n_1)} \frac{\mathrm{d}r}{\sqrt{\frac{1}{2} + E(n_0)r^4}} = n_1 - n_0 \tag{2.9b}$$

and

$$N_2^* = n_1 + \int_0^\alpha \frac{\mathrm{d}r}{\sqrt{\frac{1}{2} + E(n_0)r^4}}.$$
(2.10)

This estimate (2.10) is equivalent to (2.2).

(iii) For  $E(n_0) = 0$ , by (1.3) and  $a'(n_0) > 0$  we get that  $J'(n_0) < 0$ , J''(n) = 0 and  $J(n) = a(n_0)^{-\frac{3}{2}}(a(n_0) - \frac{1}{2}a'(n_0)(n-n_0))$   $\forall n \ge n_0$ . Thus we conclude that

$$a(n) = a(n_0)^3 \left( a(n_0) - \frac{1}{2} a'(n_0)(n - n_0) \right)^{-2} \quad \forall n \ge n_0,$$

and (2.3) is proved.  $\Box$ 

We also study the blow-up rate and blow-up constant for a, a' and a'' under the conditions in Theorem 2.1. We have got the following results.

**Theorem 2.2.** If u is the solution of the problem (1.1) with one of the following properties that

(i)  $E(n_0) < 0 \text{ or}$ (ii)  $E(n_0) = 0, a'(n_0) > 0.$  Then the blow-up rate of a is 2, and the blow-up constant  $K_1$  of a is 2, that is, for m = 1-3,

$$\lim_{n \to N_m^*} (N_m^* - n)^2 a(n) = 2.$$
(2.11)

The blow-up rate of a' is 3, and the blow-up constant  $K_2$  of a' is 4, that is, for m = 1-3,

$$\lim_{n \to N_m^*} (N_m^* - n)^3 a'(n) = 4.$$
(2.12)

The blow-up rate of a'' is 4, and the blow-up constant  $K_3$  of a'' is 12, that is, m = 1-3,

$$\lim_{n \to N_m^*} a''(n) (N_m^* - n)^4 = 12.$$
(2.13)

**Proof.** (i) Under this condition,  $E(n_0) < 0$ ,  $a'(n_0) \ge 0$  by (2.1) and (2.6) we get

$$\int_{0}^{J(n)} \frac{1}{N_{1}^{*} - n} \frac{\mathrm{d}r}{\sqrt{\frac{1}{2} + E(n_{0})r^{4}}} = 1 \quad \forall n \ge n_{0},$$
(2.14)

$$\lim_{n \to N_1^*} \sqrt{2} \frac{J(n)}{N_1^* - n} = 1.$$
(2.15)

This identity (2.15) is equivalent to (2.11) for m = 1. For  $E(n_0) < 0$ ,  $a'(n_0) < 0$  by (2.9) we also have

$$\int_{0}^{J(n)} \frac{\mathrm{d}r}{\sqrt{\frac{1}{2} + E(n_0)r^4}} = N_2^* - n \quad \forall n \ge n_0;$$
(2.16)

therefore we get (2.11) for m = 2. Seeing (2.5) and (2.8), we find

$$\lim_{n \to N_m^*} J'(n) = -\frac{1}{2}\sqrt{2},\tag{2.17}$$

$$\lim_{n \to N_m^*} a'(n) (N_m^* - n)^3 = 4, \tag{2.18}$$

$$\lim_{n \to N_m^*} u'(n)^2 (N_m^* - n)^4 = 2$$
(2.19)

for m = 1, 2. Using (1.2) and (2.19) we obtain for m = 1, 2,

$$\lim_{n \to N_m^*} a''(n) (N_m^* - n)^4 = 6 \lim_{n \to N_m^*} u'(n)^2 (N_m^* - n)^4.$$
(2.20)

Thus, (2.20) and (2.13) are equivalent.

(ii) For  $E(n_0) = 0$ ,  $a'(n_0) > 0$ , by (2.11) we get for m = 1, 2,

$$a(n) = a(n_0)^3 \left(\frac{1}{2}a'(n_0)\right)^{-2} \cdot (N_3^* - n) \quad \forall n \ge n_0.$$
(2.21)

Therefore, the estimates (2.11)–(2.13) for m = 3 follow from (2.21).

### Acknowledgements

This work is financed by NSC grant 05-2115-M-004-007, Grand Hall Company and Eton Sola Company.

# References

[1] Meng-Rong Li, Estimates for the life-span of positive solutions of some semilinear wave equations in 2-dimensional bounded domains  $\Box u = u^p$ , in: Proceedings of the Workshop on Differential Equations VII, National Chung-Hsing University Taichung, Taiwan, May 1999, pp. 119–134.

1014

- [2] Meng-Rong Li, Estimates for the life-span of solutions of semilinear wave equations, Commun. Pure Appl. Anal. Preprint.
- [3] Meng-Rong Li, On the semilinear wave equations, Taiwanese J. Math. 2 (3) (1998) 329-345.
- [4] Meng-Rong Li, Estimates for the life-span of solutions for semilinear wave equations, in: Proceedings of the Workshop on Differential Equations V, National Tsing-Hua University Hsinchu, Taiwan, January 10–11, 1997, pp. 129–138.
- [5] Meng-Rong Li, Long-Yi Tsai, On a system of nonlinear wave equations, Taiwanese J. Math. 7 (4) (2003) 557–573.
- [6] Meng-Rong Li, Long-Yi Tsai, Existence and nonexistence of global solutions of some systems of semilinear wave equations, Nonlinear Anal. 54 (2003) 1397–1415.
- [7] Meng-Rong Li, Jen-Te Pai, Quenching problem in some semilinear wave equations, ACTA Math. Sci. Preprint.
- [8] Meng-Rong Li, On the generalized Emden–Fowler equation  $u''(t)u(t) = c_1 + c_2u'(t)^2$  with  $c_1 \ge 0$ ,  $c_2 \ge 0$ , Commun. Pure Appl. Anal. Preprint.
- [9] R.P. Agarward, D. O'Regean, Second order initial value problems of LANE-EMDEN type, Appl. Math. Lett. (2007) (in press).